
1. Erin was in charge of getting the food for the outdoor picnic.  Erin 

ordered 3 buckets of fried chicken at $ 11.95 each, 5 medium 

dishes of coleslaw at $ 2.19 each and 5 bottles of pop at $ 1.95 

each.  The sales tax was $ 5.04.  How much did Erin’s order cost in total? 
 

Show your work in the box below. 
 

 

 

 

 

 

 

 

 

 

 

 

 
 

Answer:  __________________________________________________ 
 

 

2. Thomas worked 2.25 hours on Monday, 3 hours on Tuesday, 

4.5 hours on Wednesday and 4.75 hours on Saturday.  Thomas 

earns $ 17 an hour.  How much money did Thomas make in total? 
 

Show your work in the box below. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

Answer:  __________________________________________________ 



3. The Coulter Pine tree produces the world’s most massive 

pine cones.  The combined mass of 8 of these cones is 

25.26 kg.  Find the mass of 1 Coulter pine cone. 
 

Show your work in the box below. 
 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

Answer:  __________________________________________________ 

 

4. Michelle lives 2.7 km from the school.  Last year she made 

150 round-trips riding her bike (1 round trip equals going to 

her school and back). How far did she ride altogether? 
 

Show your work in the box below. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:  __________________________________________________ 


